1.3 FESEBLURE

1.3.1 BEbRAKELE

BNIg8-4| BNI85-A| BNII85-4
BAMTAR | EEhx@ 850 X500 X400
F—F WEAFH (XH) 850
5 BEHE (YD) 500
EBEE | = - ETHE (Z#D) 400 mn
FHRON D 2 5 ARTEE 113 ~613 m
FEAN S 5 — 7V LEE T 50~550 85~585
i FeTAOKES (BEXIH) 1350 X575 an |
| TEomxH 18H 8 xmx 5
F—T7 N
T ORI 80
F—7 W L AHE 700 ke (THERZEL)
FHBER T/UF—r M50 T/ 2UF—rNod
R (R 10~2200 | 10~4000 | 10~6000
E 8 | EHETE 100 @% %ﬁ@é%@fmo’“’?
p 4 iR 170 120
WD W 1 0.05.0.10,0.15an rev
BARERY B 0.001 mm
IR D B 0.1 ~2400mm,/min
o | THRDAE 1 ~1260ms,/min
57 VEGE D EE (X 6000mm, min
5 4 EREDRE (YD 6000ms,/min
= - EROEE (ZH) 3000mm,/nin




BNIg85—A BNT 8§ 5—A BNII 8 5—A
HE T HEABEHE
A6 Al A6 Ad A6 Al
TEAR 6 A& L& 6k 4% 64k | 4k
THEY» Y2 MAS-BT50 MAS-BT40
FAL v F MASA03- 11 P5OT MAS403-1%1 P4OT
THEKRE #1400 mm
%gyzxﬂ kg@z&f %mgg$>
mm mm mm
TABKE | 225m | S0 m
(A 2 &) (4l 2 X) (FHE 2 &)
l 2715  mm I ’.275 mMm l , | 360 mm
IHBAEER { 0ke (v Vo)
TEHERAR |EEHY | Svya |HED | s5vys |EEHY | 5vya
5V A 5 V¥ A 5 V5 M
X -850
-25 -25 ~25
—~175 -175 ~175
TERBEE | Y| -250 -250 1 —250 |-
- -325 -3925 -325
— 475 —475 —475
7 ~167 —117
74 VB 100 mm
E AN 5 kg oo
EER | B8R 0.2 Nf/min
ZHEE -2 0°CETF (KRE)
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